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Paper : 71-Technical-Assistant-Chemistry

Ques # :1

The valence shell electron of sodium has the quantum numbers (n,l,m,s):-
1)2,1,-1,-1/2
2)3,0,0,+1/2
3)3,2,-2,-12
4)3,2,2,+1/2

[T F TAISTRAT PN F SAFCIA Y FAEH TEIR ((n,,m,s) § -
1)2,1,-1,-1/2
2) 3,0,0,+1/2
3)3,2,-2,-1/2
4)32,2.41/2

Ques # :2

Which of the following is not obeying the Hund's rule of Maximum Multiplicity ?

RN
Tt

3)

4)




ﬁmﬁﬁa##hﬁ?#wﬁwﬁmaﬁaw%?

SMIE
giliaR

gilaAE
K

Which of the following statement is not true for Schrodinger wave equation?

"HY = EW

2) It incorporates wave-particle duality of matter.
3) solution of this equation gives E and W

4) It incorporates only wave nature of matter
ANFETT a1 FAFIOT F fov Fiaar Fya A Agi ¢ 2
1) 5

HY =EW

2) 71g IeTe 3 HUT - AT dTeY B SHAER T &I H [W@AT T |
3) =@ weiEoT & g0 @ AT W & A 9T @i & |

4) g ugTe Y I AT THT AT H WAL |

Ques # 4

The correct order of energy of 2s orbital among the following is:-



Y E,o(H)> E,g(K)> E,g(Na)> E, (L)
D Ep(K)> Ey(Na)> E, g (Li)> Eog(H)
g E,«(K)> E,<(Na)> E,¢(Li)> E;5(H)
Y E,o(K)> Ep(Na)> E,q(Li)> Eps(H)

ArfRfRTA A 2s FaF A IATHT IO FAL 2
Y E5(H)> Ex(K)> Ex (Na)> Exg(Li)
2 E»5(K)> Ep5(Na)> Epq(Li)> E5(H)
) Ey5(K)> Eyg(Na)> Eyg(Li)> Eo(H)
Y E»4(K)> Eps(Na)> Epg(Li)> Ep(H)

Ques # :5

The correct order of first ionization enthalpy among the following is:-
1) Na>Mg>AI>Si
2) Si>Al>Na>Mg
3) Na<Al<Mg<Si
4) Na<Mg<AlI<Si

A RRTA Y TA s vdeh Fradr wA § -
1) Na>Mg>AI>Si
2) Si>Al>Na>Mg
3) Na<Al<Mg<Si
4) Na<Mg<AI<Si

Ques # :6



The double bond in €, consists of -

1) Both sigma bonds

2) Both pi bonds

3) One sigma and one pi bond
4) None of the these

(o aj_ﬁi;'ﬂ' H E’I?r% =
D) gt fear sy

2) et ors ger

3) ueh R 3R TR urs 5y
) st @ 1S et

Ques # :7

The shape of SF, is:--

1) Square planar
2) Tetrahedral
3) See-saw

4) Square pyramid

SF, @ 3eid § -
D) got gaaeha
) agsweh
3 &epel @i
Y gt Rfad

Ques # :8



Which of the following pair has same bond order :-

"N, Cl,
Y02+ F,

YNOT, CO
Y 0,, N,

foveer faf@ra F @ fFw oo 3 ey vor woTeT 8-
1)
N2 ; Clz

2) 2
0s%, F,

YNOT, CO
Y 0,, N,

Ques # :9

What is the total number of orbitals associated with the principle quantum number n=4 ?
1) 4

2) 8

3) 12

4) 16

HEY FATeH TEIT n=4 W HOT Fol HaTh! 1 T&AT et graf?
1) 4



2) 8
3) 12
4) 16

Ques # :10

The hybridisation of Xe in XeOF; molecule is:-

1) dsz
2) sp°d?
3) sp°d

4) Spgds

XeOF, 310 # Xe & HH{UT ¢ -
1) dspz

2) spid?
3) Spsd
4) Spsds
Ques # :11

B, 11 has following number of (3c-2e) bonds :-

1) 2
2) 3
3) 4
4) 6



B,H, # far=foaf@a @& # (3c-2e) 99 § -

1) 2
2) 3
3) 4
4) 6
Ques # :12

The outer electronic configuration of Pd is :-
D 4 d® 552
?) 4d° 55"
Y 4d'"° 55°
4)
4d'° 55"

Pd & 91T SAFCI AP eI § :-
D 4 d® 552

2) 4d° 55’

3) 4d'°5s°

4) 440 5¢'

Ques # :13
The correct order of increasing field strength among the following ligands is:-
1)

|~<OH~<NH;<CN ~<edta*

? edta* < CN~<NH3< OH™<I~
3)



OH~™<CN~<I~<edta*"<NH;
Y [-<OH <edta* <NH; <CN~

frafaf@a Revs M et g A TaaaT FTED FAE -
Y [-<OH~<NH,<CN~<edta*"

2 edta* < CN~<NH3< OH™<I~

) OH=<CN~< I~ <edta* < NH,

4 ["<OH <edta*” <NH; <CN~

Ques # :14

The blood red colour of Sm?* is due to which of the following ?

1) f-fspectra

2) Charge transfer

3) f-fspectra and Charge transfer Both
4) None of these

e PfRET 7 O BFgs FROT Sm?2* T TT &FT o1 gar g ?

D rfedeer

2) 37U TUHATROT

3 ff Eerer 31T 3T EATACOT St
Y A AR A

Ques # :15



Which of the following is paramagnetic ?
1) | 33+
2) G d 3+

3
) Lu3+

Y et

frfafad 3§ & siaar v d -
D) a3
2) Gd3+
33

4) C e4+

Ques # :16

The crystal field stabilisation energy (CFSE)
in terms of Ay for d®configuration metal ion in
high spin octahedral complex is :-

1) 0.4
2) 0.6
3) 0.8
4) 1.2

d® R=urs & urg 3T H I=T GH0T HCGART Hha A Theed &
FUTHHIOT 35T (CFSE) T AW Ay & Jer H & -

1) 0.4
2) -0.6
3) 0.8

4) 12



Ques # :17

The reactivity of borazine as compared to benzene is :-
1) Less

2) More

3) almost equal

4) None of these

afier & egorer % ahtaer o Rrareftorar:-
D

2) 30w g

3) STaTSHeT FAT &

) g & 08

Ques # :18

Which of the following is a cyclic silicate?
V750,

2 Sc,[Si204]

Y BesAl, [Si;04 ]

Y Zn, (0OH),[Si,05].H,0
Praie & & Fhorar T Rfake § 2

V7 50,
? S, [Siz 0]



% BesAl,[Sis0q4]
Y Zn,(0H),[Si,05].H,0

Ques # :19

Which of the following is most heat-stable side group in silicone subber?
1) Phenyl

2) Methyl

3) Ethyl

4) Propyl

farafaf@a # @ wlaar ured wog RAfAwe W@ & sftwaw svaraurt @
D e
2) Afe
3) ufRrer
Y ofe

Ques # :20

Below 18 k K3(Cgo behaves as
which of the following ?

1) Insulator

2) Semiconductor
3) Superconductor
4) None of these

18k T &7 W Ky, rafaf@a # & 59 vor =uagR &A1 § ?
1)



faerered

S

2) TS

3) sifcrarers

Yo AR aE
Ques # :21

Reaction of which of the following with an azide do not give monophosphazines ?

VPCl,

frff@d & & Fadr AMAFAT varEs ¥ FIaa o AT BIREBioT gred 8 alar s 2
Y pC|
3

? P,0s
JPOR;

4)
P(CeHs)s3

Ques # :22



Interhalogen compounds are less reactive than which of the following halogens?

b Brz

D Brz

Ques # :23

Which of the following is correctly matched ?
1) B emission - N/P ratio increases

2) Positron emission - N/P ratio increases

3) Positron emissio -N/P ratio decreases

4) K electron capture - N/P ratio decreases

Pt # @ Flaa gafaa ¥ 2
1) g 3cweiet- N/P 31eq0re Sga &
2) NI Sehatet- N/P 3eIdTd 96T &



3) NI ehstet- N/P 31e]dTd TedT &
4) K SorFgTeT YaTEUT- N/P 3e]dTd Tl §

Ques # :24

Which of the following series
ends with Bismuth (*93Bi) ?

1) 4n series

2) (4n+1) series
3) (4n+2) series
4) (4n+3) series

farrfaf@a & @ g Ao &1 319 foeAy (203B1) W gar § ?
1) 4n Hofr

2) (4n+1) Sofy
3) (4n+2) Fofy
4) (4n+3) Fofy
Ques # :25

Which one of the following is (4n+2) series ?
1) Thorium series

2) Neptunium series

3) Uranium series

4) Actinium series

fArfaf@a & @ S (4n+2) Aoir g 2
1)



AT Joft
?) ooy Ao
3) g¥ferret Aofy
1) ufFefaas Aol

Ques # :26
1y &8 x

the product X in the above reaction is:-

)
19
iolNe
2)
16
8O
3)
17
80
Y 18
gF
(a,p)
UN— X



2) 16()

6(
T 170
Ques # 27

Which one of the following is not used as moderator in a thermal reactor?
1) Graphite

*D,0
) Ordinary H,0

4) Be and He

fafaf@a & @ Y i Rua # fGAcs F T A ST T8 fFarsmar g 2
D) Jrse

2D,0

3) FreROT H,0
4) Be 3-ﬁTHe

Ques # :28

Which isotope is used for Y- radiography to
detect cracks in metal parts?

1)



2) 131
531
3) 60
2-C0
4)
14
6C

O A RRT FH AT e & vy -Waemdr 7 fre
TARTATASF &1 39T Far Srar g 2

D ﬁNa
2) 131
53[
3) 60
50
4) 14
6C
Ques # :29

Addition of which one of the following gives ruby-red colour to glass ?

1) Fe3+

2) cu
3) Fez+



4)_ CDE+
fafaa & ¥ o 90T ST &) AMOFI-IFT P eare ?
D pe3+

2) Cu
3) Fe?*

4) I C02+

Ques # :30

Which one of the following fining agent is used while making glass ?

D NaNO,
2
"Na,O

3) Nacl

YCaF,

AFAfaf@d # ¥ 7T {AdE ST 39997 FIT S0 AT FAT AT 2
D NaNOs

2
'Na,0
3) Nacl

4)CE!I:;:_'

Ques # :31

Which one of the following statement is incorrect about high alumina cement?



1) It sets much slower than portland cement

2) It has good resistance to sea-water

3) It is used to make beams for bridges and buildings
4) It can withstand temperature upto 1500 °C

frmfaf@a & @ slawr Fua ssa g A F v e g 2
1) 27 D efs e B o  FTR 4 & AT

2) 7g GARY-ST & forw 3reT afadie § |

3) gHeRT 39N Geit 3R SARET & 1ot T & forar ST § |

4) Ig 1500 °C deh & AT I HE HhaT & |

Ques # :32

With increase in temperature the conductivity of metals
1) Increases

2) Decreases

3) Remains same

4) First increase then decrease

dI9AT & g F AT YT HT ATelehall :-
D gerg

2)€IET-TT%

3) g T &

4) uge Jecit § A Tl §

Ques # :33

Which one of the following ion is located at each corner of the cube in perovskite crystal structure?

b Ca*



2) TI-4+
3) DE'
4) cl-

AT & @ FIaT A WarwEe Feed 3T 7 9 F Tl Hi4 | Ryaarg ?
1) Ca;2+
2) -|-|'4+

Ques # :34
IUPAC name of Elis

D g- Ethyl - 3, 3-dimethyl cyclohexane
2) 1,1-Dimethyl — 3-ethyl benzene
3) 3-Ethyl-1, 1-dimethylcyclohexane
Y 3-Ethyl-1, 1-dimethyl hexane

C\/EI?TIUF’ACF—ITHQ-TEIT%:-

1) 1- ufde-3, 3-sTSATIW ASadlloadd
2 1,1- STSATAA-3-TTIT Seoited
3) 3-ufAer-1, 1-sEA T T A Fd adde
Y 3.ufder-1, 1-sEATAT EFaA



Ques # :35

Which one of the following molecule is not chiral ?
1) 2,3, - dihydroxy butanoic acid

HsCs
>c C= C<CEH5

3) SOsH

SOsH
4) Meso -2,3 - butanediol

PR & 9 Slaar s fa adi ¥ 2
1) 2.3 - srégrahsiterh sqearse 3w
2 HsCe

>c C= C<cEH5

S0sH

S03H




4) AT - 2,3 - SPEASS 3T

Ques # :36

Which compound is taken as standard for giving relative configuration ?
1) Glycerol

2) Glyceric acid

3) Glyceraldehyde

4) Glucose

ardeT R & v 5y 9iffe # JAes farsarg 2
D) feorexier

2) Ferafien 3rFar

3) FearaleifegEss

4) sora

Ques # :37

In Which of the following properties the enantiomers are different?
1) Refractive index

2) Direction of optical rotation

3) Melting point and boiling point

4) Density

farafaf@a 7 @ fFw aor F wfafees wo e 8 2
D) srgadeien
2) geprfRres gofer i fem



3) arertien 3R FaUATH
1) gefea

Ques # :38

Addition of Br, to which of the following
gives meso-dibromide product?

1) Cis-2-butene
2) Trans-2-butene
3) 1-butene

4) Propene

T Faa B s AT &
AOT-STSSATSS 3cUTE UIed 8T & ?

D gager-2-sg8=
2 fuet- 2- g

SRR G
9 i

Ques # :39



What is the stereochemistry about each double bond in the
following compound ?

H H
>c_c</C=C

H
HsCs <
COOH
H
1) 2E, 4E
2) OF, 47
3) 27, 47
4) 27, 4E

fame ofle difts & o fmy wam
Afem s ¢ 2

H H
H5C5>C i C<c =C
d

H

1 JF, 4E
2) 2E, 47
3) 27,47
4) 27, 4F

¢
COQOH

Ques # :40

Among the following the correct order of stablitvéﬁl

H H E
CH; CH: H
H CH; H
CH3 H CH3

I I1 [11



1) II>1>1I

2) [>1>1II

3) I1>1>1I

4) M>II>1
ﬁmﬁﬁﬁﬁ#ﬁmwaﬁm% -
/:f %—f\/ﬁw
1) mr>1I>1

2) I[>11>1II

3) II>1>11

4) II>II>I

Ques # 41

Which one of the following is not an electrophile ?
" BF;
2) )
NO:
) (CH3)3N
4
‘et
e ATRa & O Flaar saFeaeAg g g 2
D BFs

2) T
NO,

3) (CH3)3N



4)CI+

Ques # :42

The C-C bond length in benzene is :-

1) 154 pm

2) 134 pm

3) 3 bonds of 154 pm and 3 bonds of 134 pm
4) 139 pm

YT A C-CTT A TFaTE § :-
1) 154 pm
2) 134 pm

3) 3§¢r 154 pm 3R 3 &€ 134 pm
4) 139 pm
Ques # :43

Which one of the following is not an aromatic compound ?

1)

2)

<D

3)
NH

4)



W

S

foeer faf@a & & wierar WeiRts s a8 e 2
)

2)

3)

4)

Ques # :44

Which of the following group does not exert +R effect?
1) -OCOR

2) -NHCOR

3)-CN

Y _NR,

farafaf@a & & Flaar aog +R A AG AT ?



1) -OCOR
2) -NHCOR
3) -CN

Y -NR,

Ques # :45

Which of the following is correct order of basic strength in aqueous solution ?
1) {C2H5}3N > {CzHg]zNH > c:H;NH; - NH;

2) NHs > C;HsNH; > (C2Hs)2NH > (CzHs)sN
3) [CzHEhNH = [CszhN pe ] CzHgNH: > NH3

4
) (C2Hs):NH > NHs > (C2Hs)sN > CzHsNH;

fafaf@d & @ ST Reaa A aRPT ecT FT T FA FIAATE ?
1) (C,Hs)sN > (CoHs)oNH > C;HsNH; > NH;

2) NHs > C;HsNH; > (C2Hs)NH > (C2Hs)sN
3) (CyHs)2aNH > (CaHs)sN > CaHsNH; > NHs
" (C2Hs):NH > NHs > (C;Hs)sN > C;HsNH;

Ques # :46

Which of the following is correct order of acidity?
1) CH3COOH > HCOOH > CNCH,COOH > CFaCOOH

2) CF3COOH > CNCH,COOH > CH;COOH > HCOOH

3) CNCH,COOH > CHsCOOH > CFsCOOH > HCOOH



* CF3COOH > CNCH,COOH > HCOOH > CH;COOH

rfafRd # X IFaaT FTEN FH FAATE ?

1) CH3COOH > HCOOH = CNCH.COOH = CFsCOOH
2) CF3COOH > CNCH,COOH > CH3COOH > HCOOH

3) CNCH,COOH > CH;COOH > CFsCOOH > HCOOH
4) CF3;COOH > CNCH,COQOH >» HCOOH > CH;COOH

Ques # 47
0 0 ;a;
Il + | = |
CH;=CH=-C=-H 4+———#» (CH;-CH=C=-H *+—®» :CH:=CH=C-=H
| I [
Which of the following is correct order for relative stability of the resonating structures
of CHz = CH —CHO shown above:-
1) MI>1>1
2) I>11>1I
3) II>1>1II
4) >0 >1
.a 2 +
0: 0 :0:

0 + I _ |
CH;=CH-C-H4——% CH;-CH=C-H *——# :CH;-CH=C-H
I Il m

CHy = CH -CHO T 39018 Sendl STawTHt &, Tfatas & & stam e

e WA R 7

1) mI>1I>1I
2) [>11>111
3) I>1>1I

4) m>MIr>1




Ques # 48

KOH, A T
“H0

o I:H? P - -
The above reaction is an application of which of the fallowing
reaction ?

1)  Cannizzaro reaction

2)  Aldol condensation

3)  Hofmann reaction

4)  Curtius reaction

KOH, A
-H:0

o7 @
suled Hf@Ahw Feafafaa # @ o wfafe & s & 2

D S @i

2) Ucalel Teelo]

3) eTRHTT HTATHAT

4) wieaw fAfRar

Ques # :49
Ph N
>C=N—OH ——» PhCONHPh
Ph or
PC|5

The above reaction is an example of :-

1)  Fries rearrangement
2)  Beckmann rearrangement



3)  Lossen reaction
4)  Curtius reaction

>C=N-0H +- Ph CONH Ph
Pcls

IFT HIATHAT IR ¥ -

D s qeifdeara &

) A gAfdeary &

3) Sttt rfAfRar

1) witaw AT

Ph

Ph

Ques # :50

Which of the following product is formed on condensation of furfural with acetic anhydride in presence of sodium acetate ?
1) Furan

2) Furoic acid

3) Fufrural acrylic acid

4) None of these

frafaf@a & @ wlaar seur wrrgye F1 vt vasssss & Wiy wifdyw vfiee @ sufPufa  duee @ urea @are?
D o

2) RIS 31l

3) v Ufshiorn 3T

RESUEENEE

Ques # :51



(1)2n _, H2504/4 (1) Se/A
C .y =B >
J + BrCH.COOCH: (2) A0 (2) H.0
%,» h“ﬁ-_w
The product'C'in above reaction is :-
1)
2) CH;COOCH;

3)

4)

CH,COOH



(1) Zn

,sn.m (1) Se/d

+ BrCH zCDDCH 3

T s A s=e'c E -

2)

{l:HzCU'DCHJ

O

CH;CDDH

(2) H;0"

(2) H,0

Ques # :52



‘ NH _NaOH | » (1) NaDEr:B
/! (2) HCl

The product 'B' in above reaction is

1) Anthracene

2)  Anthranilic acid

3) Phthalic acid

4) N- Bromo succinimide

0

‘ NH _NaOH _ , (1) NaOBr
r

‘g/ (2) HCl

I AT #F 3091 B -

D oeyrde
2) A 3
3) Ao 3Far

1) N-sA gieaeass

Ques # :53

Which of the following rearrangement does not involve migration to electron deficient nitrogen ?



1) Hofmann rearrangement
2) Lossen rearrangement
3) Favorsky rearrangement
4) Curtius rearrangment

farafafea #F @ fra qafdeara & sewele - 7y Ageter 9T e gl ghar 2
D) gt gafdeara

2) dtetet qefdeara

3) ¥rareht geAfdeare

4 witaw gHideare

Ques # :54

The m/e value of M, the emolecular ion, gives :-

1) Molecular formula
2) Molecular weight
3) Molecular structure
4) Refractive index

M+ ﬂ-ma?m/eﬂma'm%:-
D) anfoae g

2) 3rop 9%

3) 3nfOae a=er

4) 3qacisTieh

Ques # :55

Which of the following does not give M +2 peak at m/e 80 for benzene?

Y CeHsD*



2)

Ca™®C, HY

3)

Cs ®CHs D*
4) L

rfaf@a & @ Flsar asiler F m/e 80 9T M +2 @ 78 &ar §:-
D CeHsD*
gll5

2)
Ca™C, Hf

3)
Cs ®CH5 D*
Y CeHa D}

Ques # :56

Which of the following frequency shows C-H out of plane bending absorption for aromatic ring ?

D 650 -900 cm™
2) 3000-3100 cm”™"
3) 1500 -1600 cm ™"

4 1000- 1100 cm™*

frrafaf@a 7 @ sl srgfa weifts gea & C-H & ao ae7 F9e F raeivor #) yefdfa wedt s -

D 650-900 cm™

2) 3000-3100 cm™
3)



1500 -1600 cm ™"
4) 1000- 1100 cm™!

Ques # :57

Which of the following tells us how many protons of each kind are there in NMR spectrum of a molecule?
1) Number of signals

2) Positions of the signals

3) Intensities of the signals

4) Splitting of a signal

NMR EFeq # farafaf@a & frad 1 glar ¢ i v 307 & v f v & aa wieler 8 2
1) Sanet &t gear

2) Tehall T FRuf

3) gt r rarer

4) Ferail & faaTesT

Ques # :58

Which of the following spectroscopy is observed in microwave region ?
1) NMR

2) ESR

3) UV-VISIBLE

4) Mossbauer

frafaf@a # ¥ Fiadt Te)fafa gawr aver a7 (@EF! 39 fsren A a@a e 2
1) NMR

2) ESR

3) UV-VISIBLE

4) AraeiR



Ques # :59

The value of Av for stoke's lines in Raman spectra is:-

1) Zero

2) Positive

3) Negative

4) None of these

T ToFeT H Ty @3t & o aver AT ¢ -
D e

2) TcHS

R GED

4) STH A IS G

Ques # :60

Thet,;;; of a reaction is doubled as the initial
concentration of the reactantis doubled.

Whatis the order of the reaction ?

1)
2)
3)
4)

W N = O



T JTATRIT F FaeRe fr TRFTs
AT il GIAT A TR HTATRaAT HT

tiy, QAT BT AT & |
AT S FIfS Far Beir?

1) 0
2) 1
3) 2
4) 3
Ques # :61

The Arrhenius equation expressing the effect of temperature on the rate constant of a reaction is :-

Y «= p—Ea/RT

2)

K= Ea/RT
3)

K=log, =
4)

HTATFIAT & 397 TS I ATTATA & YHT &Y YT FI6r aralt STRTATT THEFHoT § X-
D «= o—Ea/RT

2
' K= Ea/RT

3) Ea
K_IDgEE?



K k= A ¢ —Ea/RT

Ques # :62

75% of a reaction of the first order was completed in 32 minutes. What is the time for completion of half of this reaction ?
1) 16 minutes

2) 32 minutes

3) 8 minutes

4) 4 minutes

woe FIfE v FTATHAT Y 75% ot gt 7 32 PAere o, 3w AR ) 3 qot 1 & e waw a2
D 16 faee
2) 32 fAeTe
3) § fAeTe
) 4 fAee

Ques # :63

Increase in the ionic strength will increase the rate of which of the following reaction ?-

Y S,05+1 ——> Products
2)
Br, + CH;COOH —— Products

Y Fedt 4 SO~ —  Products

Yer, 077 + Cut ——  Products



farafaf@a fAfFEarsn &, fFaeT 391 3maa ey & T W aedrg ?
Vs,02 +"— 3curg

%) Br, + CHsCOOH—— 3cure
3)

Fe**+50; —> 3G

Yer 027 +cut —— 3

Ques # :64

Rate = PZ,pe  E%RT 1n this equation P is :-
1)  Collision frequency

2)  Steric Factor

3)  Activation energy

4)  Pressure

Rate=PZ,pe F4/RT g gafteqor A P & -

D dugamafa
2 PREFRe
3 gfrgursar
4) ACH

Ques # :65

Which of the following relation is correct ?
1)
C,-C,=R

2)



R Cp
3) ‘Cp

C,= =
4)

C,- C,=R
faf@a # g slaar graa i g 2
1)

C,-C,=R
2) Cy

RO
3) c,

C, = ry
4)

C,- C,=R
Ques # :66

which of the following is an intensive property ?
1) Temperature

2) Internal energy

3) Mass

4) Volume

Ry 3f & aTger o7 Fhera & 2
D arqere



2) iR 3eit
3) gegATT
4) 3maae

Ques # :67

" At the absolute zero of temperature the entropy of a perfectly crystalline solid becomes Zero " The above statement is related to which law of
thermodynamics ?

1) Zeroth law
2) First law
3) Second law
4) Third Law

" OH Yo AT 9T qUIAT el 31 Y Tl I 8 STl § ' INiad FU SSANTa & e e a wafta
D = foras

2) gow g

3) gfaciar e

) gl far

Ques # :68

9(AG)
aT )y
The above equation is :-

AG=AH+T (

1) Gibbs - duhem equation

2) Clapeyron - clausius equation
3) Gibbs - Helmholtz equation
4) Boltzmann equation



AG=2H+T (P8,

IUUFT AT § -

D) farsst -gg weetor

2) FAIRI - FASTATT Foreror
3) Rreat- EoAgiocsT gaaoT

%) SrecEasTT THHOT

Ques # :69

Which one of the following is entropy change of an ideal gas in an isobaric process ?
1) %
2
AS =R In(2)
Vi

2) _ T,
A5 = C, In(D)

3) p
AS =R In(=)
P

4) T,
AS=C, In(=)
Ty

frafaf@a & @ wlaar sneet 3w & gwgE A J vaerdy aRade § 2
1
" AS =R In(2)

Vi

) T,
8S = Cp In(2)

3)



P
AS =R In(=)
Py

4) T
AS = C, In(=2)
T,

Ques # :70

With increase in dilution the molar conductivity of a solution :-
1) Increases

2) Decreases

3) Remains constant

4) First icreases then decreases

forelt faeraer <Y I Sgre & WY AV ATelehll T AT :-

4) ggol dodT & R Tear g

Ques # :71

What weight of copper (Atomic mass 63.5) deposits when 1 Faraday of electricity is passed through cupric salt solution ?
1)63.5¢g

2)31.75 ¢

3) 127 ¢

4)1.0g

o« 1 U2 Ay 1 FR Faor & fFege @ IR S 79 AR g ar S (RATTHR 63.5) T HR e g 2
1) 63.5¢g



2)31.75 ¢
3) 127 ¢
4 1.0g

Ques # :72

Which of the following is obtained at cathode during electrolysis of aqueous Nacl solution ?
1) Na
2)
02
3)

H

4)

Cl,

ST Nacl faeraer & Rya srqaes 4, Aeafaf@a & & lawn, Fas warca garg 2
1) Na
2) o,
3)
H.
4)
Cl,

Ques # :73



What willbe E__;; from following half cell reactions ?

Fe**(aq) + & — Fe**(aq) E°=+0.77 V

Zn**(aq) +2e” = Zn(s) E°=-0.76 V
1) 0.01V
2) 1,53V
3) 153V
4) 230V

fFafaf@a st do sfafmsy & £, 97 89w 2
Fe**(agq) + e — Fe**(aq) E°=+0.77V

Zn**(aq) +2e” = Zn(s) E*=-0.76V
1) 0.01 V

2) 1.53V

3) 153V

4) 230V

Ques # :74

In which of the following AG" is correctly related to E_;; ?

1)

AG =RTInE,
L :

ﬂG = 'RT |H ECEH
3) . o

ﬂG = 'nF ECE”

4)



AG"=-nEFE

cell

fafaf@a & @ fFad AGE_,, & Ty @f defaa ¥ -

1 . .
AG'=RTInE

2) ) .
&.G = 'RT |n EEEH

3 0

' AG"=-nFE,,,

4 . '

" AG"=-nFE.,

Ques # :75

Which of the following compound causes permanent hardness of water ?

Y Na.COs
2) CaS04
) NaHCOs
Y NaNO,

frrafaf@d & @ o991 i e & TAR—N FaRdaT 3cued m% ?
D Na,COs
2) CaSO.



3) NaHCO;
4 NaNO;

Ques # :76

Which one of the following is not a method of determination of fluoride in water ?
1) Alizarin -s visual method

2) Spectro photometric Nessler's method

3) Spadns method

4) Ion- selective electrode method

frafafaa & @ #lad, 5 A FaREs Ad SRS A I adie 2
D) oo -s e fafer

2) EFeH ST AT Eek afer

3) g faf

4) 37T guiicHe Saeers Aty

Ques # :77

Turbidity in water may be checked by the coagulant :-
1) Ferric chloride

2) Ferric sulphate

3) Ferric alum

4) All of these

e 7 AT I fow s g@RT AT ST HFHaT ¢ :-
1) %Rer FelRrss
2) %Rer Tethe

3) R T A
4)



I8 O Y

Ques # :78

BOD is a measure of :-

1) Organic pollution in water
2) Chemical oxygen demand
3) Acidity in water

4) Metal pollution in water

BOD T&H ATT § :-

D s & wdfasw TGOT T

2) qrarafaes iterdisteT AT &
3) STt & rFaar

4) STer 3 T ST Y

Ques # :79

If organic content in water is high, the chlorination used is:-
1) Super chlorination

2) Double chlorination

3) Break point chlorination

4) Post chlorination

Ifg el A FEfAS AT 3T &) a9 3TANT H AT AT aTed FARAA § :-
D) i3 FeiRetet

2) &fy FeliRetel

3) faede foig Fallets

4) g7 FATReTT



Ques # :80

Fe and Mn are removed by :-
1) Filteration

2) Chlorination

3) Aeration

4) Lime - soda treatment

Fe 31X Mn & faswifaa frar srar @ :-

D) fheet=l gar

2) FelReteT gar
3) gy fAoT g@nr
) AT ST SR G

Ques # 81

Which one of the following is not a Green house gas ?

1)0
2

2)

CHa

Y CFC,

4)

N.O

Arfaf@a A d slad NagEa AT adi g .-
1)
O,



%) CH,
Y cFC,

4
' N,0
Ques # :82

The maximum Global warming ptential is of :--
1

' N0

2 CH,

3)

CEC
Y o,

3TUAH - AN d1a fasra Faar g -
D'N,O
2) CH,
Y CFC
Y co,

Ques # :83

The variability among replicate measurements is :-
1) Accuracy
2) Precision



3) Error
4) Absolute error

ST sl 3 e ¥ -
D) garefar

2) afyergar

3) i

4 foder 3R

Ques # :84

Which one of the following is indeterminate error ?
1) Instrumental error

2) Accidental error

3) Operative error

4) Errors of the method

frafafea # & #laeh sfuiRa R ¥ 2
2) 3T T
3) foramery 3fe
4) fafer 1 3Rt

Ques # :85

The absolute error expressed as a percentage of the true value is known as :-
1) Average deviation

2) Standard deviation

3) Relative error

4) Accuracy



et Afe I arrafas A F wferera # weftia A e ¥, 75 Feamdt § -
D) e farere

2) At TarereteT

3) s R

4) gerefar

Ques # :86

In which of the following extraction , the two immiscible solvents contact each other as they flow through one another in opposite directions :-
1) Batch extraction

2) Back extraction

3) Continuous extraction

4) Counter current extraction

frrafaf@a fra forsador 3 &Y arffsmofir Raras vF ga¥ & aea& F ana ¢, 519 3 v gav & Rl Rt F yafka da e 2
D &= fArsador

2) qea fsepsor

3) g fasagor

) gfeRT fersehyor

Ques # :87

Efficiency of extraction with several small volumes of solvent than a single large volume will be :-
1) More

2) Less

3) Equal

4) None of these

e & F§ 37 AT @R fAsawHor Y &TAT T Tl HTAF AT AT JelalT F g1 2
D st



2) g
3) SR

Y g1 A 1S A

Ques # :88

The partiton of a solute between two immiscible solvents is governed by :-
1) Henry's law

2) Raoult's law

3) Nernst distribution law

4) Faraday's law

& faerT #71 g 3oy Reas! & Rsmaa afafaa garg -
Degad fma

2) UBee EA @

3) Aee faavor FEE @

D e A A

Ques # :89

Which of the following is correct for distribution
coefficient K, where 4,,., and 4,,
Represents activity of solute in organic andinaqueous

phase respectively :-
1)
K = [Aorg][ Aaq]
K = [Aorg] + [Aaq]

2)

3)



K= [Aorg] - [Aaq]

— [Aarg]
[Aaq]

4)

fAafaf@a & & siaar TR o K % @
WET B, ST Ay 3R Ay, wAe: o & wefas
TUT FNT ITaEdT H Ffshaar #r veliid = § -
1
" K= [Aorgll Agg]
P K= [Agrgl + [ Agg]
D K=[Agrgl - [Agg]
Y [Aorgl

" [4qq]

Ques # :90

Which of the following can be detected by flame ionization detector in gas chromatography ?
1) Butane

2 s,

3)

NH.
Y sicl,

frrafaf@a & & R vgar S FEteRd & Sarar 3raee o« @RI AT ST aHdr g ?



D =gea
2 CS,

%) NH;
Y SiCl,

Ques # 91

Which of the following functional group is present in anion echangers ?
1) +
= C H 2 N (CH 3) 3
2)
-CH,COOH
3)
-SOzH

4)
-COOH

frafaf@a & ¥ Fiaar rarens ¥Hg Tonaer fafaA @Y (anion echangers) # 9T ST 2
) CHyN(CHS),

%) _CH,COOH

Y _s0,H

Y _COOH

Ques # :92



Which of the following is used as binder in TLC ?
1) Alumina

2) Cellulose powder

3) Gypsum

4) Kiesleguhr

frrafaf@a & & Flawr TLC & 99+ & w0 F wgad giar g :-
I)Uﬂﬁm

?) g

3) forcwA

4) SrotenR

Ques # :93

In which of the following paper chromatography the components are separated in the from of concentric circular zones ?
1) Ascending - Descending chromatography

2) Ascending chromatography

3) Radial paper chromatography

4) Two - dimensional - chromatography

frrafaf@a 7 ¥ fre T FACKRIAY 3 ae) T qUaHor ¥Hal T e & T F grare ?
D) 3RIEY- 3T AT

2) 3RIET IFASIH

3) 318 IR e

4) et FerIE

Ques # :94

In presence of which of the following, Ca and Mg can be estimated in blood serum by atomic absorption spectroscopy ?



1) Lanthanum carbide
2) Lanthanum chloride
3) Lanthanum nitride
4) Lanthanum sulphide

feafaf@a # & fradr sufeufa & +OR dR# # Ca 31t Mg F qwaAvdT sraeiyor Faed ganT srwfad frar s a@arg 2
1) e wress
2) NAH FARTSS
3) ST ATSLTSS
1) JoeTH Fewres

Ques # :95

AT vs temperature is plotted in which of the following ?
1) AAS
2) TGA
3) DTA
4) DTG

fArfaf@ad & ¥ FEA AT vs IIAT ) 3mafad Farsarg 2
1) AAS
2) TGA
3) DTA
4) DTG

Ques # :96

which of the following is related with dropping mercury electrode?
1) AAS

2) Polarography

3) DTA

4) Neutron activation analysis



fArafaf@d & ¥ Fia gda e sAFs A TERTE -
1) AAS

2) QroRaAT

3) DTA

%) sgieT AT faeryor

Ques # :97

Which of the following is not correct for horizontal protion of TG curve ?
1) Weight loss

2) Thermal stability

3) Substance maintains its properties

4) No weight change

ArRfRTA A ST T TG a5 F difaa smerF v ad agi e 2
D oR e g

2) ardrar wenfed

3) e 6T 3y AU Y AT T

1) T & ;S IRadeT FE g

Ques # :98

Which of the following is not an input unit in computer ?
1) Keyboard

2) Mouse

3) Scanner

4) Monitor

farafaf@a #F @ wladt Foger frgaqe gfac adr g 2



) $rag
2) 3|
3) e
4) Fforex

Ques # :99

Which of the following is not a hardware of computer ?
1) Operating system

2) Output unit

3) CPU

4) Input unit

frafaf@a #§ ¥ slam Foae FT e adi d 2
D sitqyfear Rees

2) 3m3eye gfae

3CPU

Y gage Ffae

Ques # :100

Which of the following is not an auxillary memory ?
1) RAM

2) Magnetic tape

3) Magnetic disc

4) Floppy disc

fArafaf@a & ¥ slad) ggrs aadr adi g 2
1) RAM
2) gradr e



3) JEIhTY f3&h

1) rardY faeh
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